

## Pay Estimate Created Date: September 15, 2020

Progress Estim 5	ate Number	Contract ID 200117-H04 Pay Period Start September 2, 2020 Original Contract Amount   Prime Contractor Putz Construction, LLC Pay Period End September 15, 2020 Net Change Order Amount   Current Contract Amount Current Contract Amount Current Contract Amount Current Contract Amount								
Approval Date						By User				
September 15, 2020	Generated and Approved (and should be considered Draft) at the Project Office Level by									
September 16, 2020	Reviewed and Approved (and should be considered Draft) at the Resident Engineer Level by									
September 16, 2020	Reviewed and Approved at the Central Office Controllers Office Level by									
Original Completion Date		Current C	ompletion Date	Actual Completion Date	% of Current Contract Amount	unt Complete				
March 1,	2021	Marc	ch 1, 2021		75.75%					

## No Milestones Exist for Contract

Contract Total Pay For Estimate No. 5											
	Date										
200117-H04											
	Total Post	ed Items Pay			\$329,143.20	) \$43	8,382.74				
	Gross Iten	n Adjustment	s \$0.00		(\$328.80)	(\$3)	28.80)				
	Incentive		\$0.00		\$0.00	\$0.0	00				
	Disincentiv	ve	\$0.00		\$0.00	\$0.0	00				
	Liquidated	l Damage	\$0.00	\$0.00			\$0.00				
	Other Con	tract Adjustm	nents \$0.00	\$0.00			\$0.00				
							138,053.94				
Contract Total Pa	yable This Esti	mate:	\$109,239.54								
ems Paid This Es	timate Period										
Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount				
J9P3627	0020	6189916	MISC.Normal work adjustment factor	DLR	\$1.150	94,990.9	\$109,239.54				
Project J9P3627	- Total						\$109,239.54				
Overall - Total							\$109,239.54				
ontract Adjustme	ents This Estim	ate					<b>\$109,239</b>				

No Contract Adjustments Exist on Contract Line Item Adjustments This Estimate

No Data Available



# Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

	Contract Project Information											
Project Number	Federal Proj. Number	Project Description	Route	County	Location of Work							
J9P3627		Job Order Contract for erosion control repairs	Various	VARIOUS	in various locations in the Southeast District							

# Totals by Job Numbers

J9P3627		This Estimate	Description	T- D-4-
	ted Item Pav		Previous \$329.143.20	To Date \$438.382.74
	ss Item Adjustments	\$0.00	(\$328.80)	(\$328.80)
	Gross Item Pay	\$109,239.54	\$328,814.40	\$438,053.94
Incer	ntive	\$0.00	\$0.00	\$0.00
	ncentive	\$0.00	\$0.00	\$0.00
Liqui	idated Damages	\$0.00	\$0.00	\$0.00
Othe	er Contract Adjustments	\$0.00	\$0.00	\$0.00



Exceptions (Discrepancies) This Estimate Period No Exceptions Exist on Contract

# Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

## Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Q	uantities	and Valu	es are b	ased on	Report Generated date and can differ from the posted an	nount at the	time the	Estimate w	as Gene	erated.				
Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)		
200117-H04	J9P3627	0001	0010	6189916	MISC.Nighttime work adjustment factor	25,000.00	0.00	25,000.00	DLR	0.00	\$1.20	\$0.00		
		0001	0020	6189916	MISC.Normal work adjustment factor	450,000.00	0.00	450,000.00	DLR	381,202.38	\$1.15	\$438,382.74		
				0001 0030	0030	6189916	MISC.Weekend work adjustment factor	25,000.00	0.00	25,000.00	DLR	0.00	\$1.25	\$0.00
		0001	9000	6189916	MISC.Liquidated Damages	0.00			DLR	0.00	(\$1.00)	\$0.00		
		0001	9100	6189916	MISC.Additional Items	0.00			DLR	0.00	\$1.00	\$0.00		
		0001	9200	6189902	MISC.High Priority Repair	0.00			EA	0.00	\$2,400.00	\$0.00		
	Project J	9P3627 - To	otal Value	Posted to	Date as of Report Generated Date							\$438,382.74		
200117-H04 Ove	rall - Total	Value Post	ted to Da	te as of Re	port Generated Date							\$438,382.74		



#### Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

## The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Line Number	ltem Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0020	0020 6189916	MISC.	9/9/20	9/10/20	33,790.26	DLR	Rte. 67 Southbound Log Mile 178.545-178.734 Erosion Repair Furnish & Plrace Type 2 Rock Blanket \$200 Ton X 678.91 Tons = \$26367'.30 Permanent Erosion Control Geotextile \$2.00 SY X 823.98 SY = \$1647.96 Misc. Modified Linear Grading, Class 2 10.5 STA X 550 = \$5775.00 Total \$33790.26	178.545		178.734		
			9/10/20	9/10/20	21,553.88	DLR	Rte. 67 Southbound Log Mile 178 24-178.381 Erosion Repair Furnish & Place Type 2 Rock Blanket \$30 Ton X 676.2 Tons = \$20266.00 Permanent Erosion Control Geotextile \$2.00 SY X 633.94 SY = \$1267.88 Total \$21553.88	178.24		178.381		
			9/11/20	9/15/20	18,227.40	DLR	Rte. 67 Southbound Log Mile 178.24-178.381 Erosion Repair Fumish & Place Type 2 Rock Blanket \$30 Ton X 571.84 Tons = \$17155.20 Permanent Erosion Control Geotextile \$2.00 SY X 536.1 SY = \$1072.20 Total \$18227.40	178.24		178.381		
			9/15/20	9/15/20	21,419.36	DLR	Rte. 67 Southbound   Log Mile 178.545-178.734 Erosion Repair   Furnish & Place Type 2 Rock Blanket   \$30 Ton X 67198 Tons = \$20159.40   Permanent Erosion Control Geotextile   \$2.00 SY X 629.98 SY = \$1259.96   Total \$21419.36	178.545		178.734		

The information below this line are details from Line Item agency views. No Agency View Details Exist

# Missouri Department of Transportation Contractor's Pay Estimate Summary Line Item Adjustments - All Estimates

Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0020	MISC. Normal work adjustment factor	Other Item Adjustment OTHR 4 Sep 1, 2020		durrov1	(\$328.80)	Adjustment of -20% for Seed Growth		
					(\$328.80)			
	Other Item Adjustment - Total			(\$328.80)				
0020 -	- Total		(\$328.80)					
Overa	all - Total			(\$328.80)				